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1. (a) Reduce the sizes of the margins 4x0.5
Reduce line spacing
Reduce the font sizes
Reduce the character spacing
(any valid answers)
(b) (1)  He can use the header and the page numbering features of the word processing softwareto |2 x 0.5
do it.
(i)  save time to type 20 times. 1
The page numbers will be automatically updated in case of amendment and hence more 1
convenient.
(any valid answers)
2. (a) (i) A gateway is an interface that enables dissimilar networks to communicate with one another. 2
(if) 3 (hints from the IP addresses) 1+1
(b) i) com (or.com) 1
(i)  No, the URL is not registered for the company. 1
(Or  Yes, the company may register the URL separately.)
(i) Yes. The IP address is what a domain name system will supply. It is an alternate way to 1
specify the URL.
(iv) Hypertext Transfer Protocol (or HTTP) 1
(“Http’ or ‘http’ is not acceptable)
3. (a) Fragmentation of the fiies stored in the hard disk (i.e. after many files saved and deleted, 1+1
there remain many scattered areas of stored areas). Using a disk defragmenter to rearrange
data units of each file in sectors contiguously.
(b) Multi-users and multi-tasking. 1+1
(c) ()  The operation is not mainly held in CPU / not enough memory 1
(i) Adding more memory may help data retrieval 1

Or replace the hard disk by a faster one
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SELECT EN NAME, CLASS_NO, SEX, PHONE
FROM STUDENT

WHERE CLS NAME = '1A'

TO PRINTER

LIST

FIELDS EN NAME, CLASS_NO, SEX, PHONE
FOR CLS NAME = 'lA'

TO PRINT

- Storage space is wasted

- Difficult to maintain the consistency of data
- Human resource is wasted for data entry
(any 2)

- Assign a school code for each primary schools in the district.

- Store the names of all primary schools and its corresponding school codes in the additional
database file

- Replace the fields PRIM_SCH in STUDENT by school codes

Validate the presence of input data for mandatory fields (e.g. the sex field on the
questionnaire) /
Check the number of selection, e.g. at most 3 items should be selected

Validate the range of data for the correctness of data, e.g. check the number of purchase /
Validate the format of data for the correctness of data, e.g. check the date format

Reduce the time needed for data input (other reasonable answers)

Satisfy unique requirements
Future modification or enhancement is more possible.

Use the numeric pad on the touch screen
(or use list box)

JPEG

high quality
small file size (for fast file transmission)

contain at most 256 (=2°) different shades of gray,
with black and white establish the extremes of the range.

Part of the image displayed under the resolution 640x480 will not be seen while the whole
image can be seen under the resolution 1024x768.

OR

The image displayed under the resolution 1024x768 will be sharper than that under the
resolution 640x4380.

(any valid answers)

1+1





[image: image3.png]Solution

Marks

7. @)

(®)

(©)

(@

(e) ()
(i)

8. (@ ()
(iD)
(b)
©
(@

(&)
(i)

(iii)

SELECT NAME, DOB FROM STUDENT
WHERE DAY (DOB) 2
AND MONTH (DOB) 5

1

I

SELECT NAME, CLASS, AQUOTA-UQUOTA AS BALANCE

FROM STUDENT, PSUMMARY WHERE STUDENT.SID = PSUMMARY.STID
AND AQUOTA-UQUOTA < 10

ORDER BY CLASS, NAME

SELECT 2

USE STUDENT

INDEX ON SID TO STUDENT

SELECT 1

USE PSUMMARY

SET RELATION TO SID INTO STUDENT

SUM UQUOTA FOR
LEFT (STUDENT.CLASS, 1) '6' OR
LEFT (STUDENT.CLASS,1) = '7"

SELECT 2

USE STUDENT cs, AC N 1

INDEX ON SID TO STUDENT s ROUND

SELECT 1

USE PSUMMARY

SET RELATION TO SID INTO STUDENT

AVERAGE UQUOTA FOR;
'CS'$STUDENT.SUBJECTS AND 'AC'$STUDENT.SUBJECTS TO ARA

LIST UQUOTA, STUDENT.NAME, STUDENT.CLASS FOR UQUOTA>ROUND (AAA, 0)

AND

340
65 (405)

=D$3* (1-$C4)
=F$3* (1-$C6)

D2 =CZ*VLOOKUP (C2, PRICE!AS3:F$6,4)
H101 =G101*VLOOKUP (G101, PRICE!AS$3:F$6, 6)

=D45+F45+H45

~ =COUNT (C2:C101)

0] (O]

=IF(LEFT (B3, 1)=J%1,1,0)
® ® ®
1. enter a formula =I2*J2 into cell K2
2. copy the formula into cells K3 to K101
3. enter a formula =SUM (K2:K101) into cell K103

Change the step 1 in (e)(ii) to
enter a formula =IF (LEFT (B2, 1)=J$1, I2, 0) into cell K2

I+1+1
1+1

0.5
0.5
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). (a) (i) Presentation Software 1
(i) Multimedia Player :l 1
(iii) Web Browser 1
(iv) Web Server 1
(v) Bar-Code Reader 2 | 1
(vi) 9-Pin Dot-Matrix Printer 1
(vii) Digital Camera 1
(viii) DBMS 1
(b) (i) no radiation 1+1
not affected by magnetic field
(i) Hardware: Scanner; Software: OCR 1+1
(c) (i) A proxy server is an intermediary server that sits between a client application (typically a 1
Web server) and some external servers. It intercepts all requests and allows the proxy
server to process the request and response.
A proxy server can filter all traffic over the Internet. 1
A proxy server can cache the results and store the contents temporarily for immediate 1
access.
(d) A cookie is piece of information or data that a web server sends to your browser and stores 2
on your computer. This process is known as setting a cookie. The web server can keep
track of you and the next time you visit the web site. The browser will retrieve the cookie
and send back to the web server. The web server can then use this data for a variety of
proposes such as customize its web page to serve you.
A cookie is a piece of data and will not be executed on the client side. It is generally fairly
harmless. A web site can only access its own cookie. All the information sends back to
the web site must be known at the first place. Therefore, it is a privacy issue and not really 1
a security issue.
(e) Use compression 1
Use video streaming to reduce the waiting time / buffering 1





